#### 選舉開支及接受選舉捐贈之申報書及聲明書

#### RETURN AND DECLARATION OF ELECTION EXPENSES AND ELECTION DONATIONS

(選舉 (舞弊及非法行為)條例》 (第 554章)第 37條 Section 37 of the Elections (Corrupt and Illegal Conduct) Ordinance (Cap 554)

## 2017年行政長官選舉 2017 CHIEF EXECUTIVE ELECTION

選舉日期: 2017 年3月26日 Date of Election: 26 March 2017

## 申 報 書 FORM OF RETURN



[附註: 請用正楷填寫此申報書及聲明書,填寫前請小心參閱〈填寫選舉開支及接受選舉捐贈之申報書

及聲明書說明》("說明")。]

[Note: Before completing this return and declaration in BLOCK LETTERS, please read carefully the "Notes on Completion of

Return and Declaration of Election Expenses and Election Donations" ("Note(s)").]

#### 候選人姓名

#### WOO KWOK HING

Name of Candidate

1. 我是参加此次選舉之上述候選人。

I am the candidate named above at the above election.

2. 我現把由我及由我的選舉開支代理人代我在上述選舉中招致的選舉開支,及由我、我的選舉代理人 及其他人士代表或為我在與上述選舉相關的情況下接受的所有選舉捐贈,申報如下。

I hereby make the following return of election expenses incurred by me and by my election expenses agent(s) on my behalf at the above election, and all election donations received by me, or by my election agent or by any other persons on behalf of me in connection with the above election.

## 各項選舉開支 ELECTION EXPENSES

開支一覽表(詳情列於以下各有關部分)(見說明第5項)

Summary of expenses (Details set out under each of the relevant sections below) (See Note 5)

候選人個人開支(A 部) Candidate's personal expenses (Section A)	HK\$
選舉聚會之開支 (B部) Expenses for election meetings (Section B)	HK \$31,849.03 港元
代理人及選舉助理之開支(C部) Expenses for agents and election assistants (Section C)	HK\$ <u>2,184,242.20</u> 港元
選舉廣告之開支(D 部) Expenses for election advertisements (Section D)	HK\$ <u>429,487.50</u> 港元
租金、辦公室及運輸之開支(E部)	HK\$ 467,474.21 港元
雜項開支(F 部) Expenses for miscellaneous items (Section F)	HK\$43,988.50_港元
未支付之索款(G 部) Outstanding claims (Section G)	#K\$

Total expenses

A 部 : 候選入個人開支 (例如:製作候選人的個入相片或個人形象設計等之開支。)

Section A : Candidate's personal expenses (For example, expenses on production of personal photographs or image design, etc.)

開支性質 Nature of Expenses		金額(港元) (見說明第 5項) Amount (HK\$) (see Note 5)	發票及收據 Invoice and Receipt
1.Headshot		60.00	A1
2.			
3.			
4.			
5.			
6.			
7.			4.00
8.			
9.			
10.			
	總數 Total	60.00	

B部 : 選舉聚會之開支 (例如:舉辦選舉活動或舉行誓師大會之開支。)

Section B: Expenses for election meetings (For example, expenses for conducting electioneering functions or launching ceremony of the election campaign.)

	活動日期 Date of Activity	活動名稱 Name of Activity	金額(港元) (見說明第 5項) Amount (HK \$) (see Note 5)	發票及收據 Invoice and Receipt
1.	14/12/2017	Press Conference for Introducing Election Platform	5,500.00	B1
2.	14/12/2017	Water for Press Conference	240.00	B2
3.	4/2/2017	Kwok Hing Club Supporter Event	5,000.00	В3
4.	24/1/2017	FCC Event	681.00	Donation
5.	16/2/2017	Higher Education Event	21.30	Donation
6.	14/1/2017	The Chinese Executives Club Event	11,225.33	I14
7.	26/10/2016	Press Conference for Announcing Candidacy	1,500.00	II7
8.	13/12/2016	Young Liberal Party Social Tuesday	7,681.40	118
			31.849.03	

-2-

C 部

: 代理人及選舉助理之開支

Section C : Expenses for agents and election assistants

代理人類別/獲委任人姓名 Types of Agents/Names of Appointees	金額 (港元) (見說明第 5項) Amount (HK \$) (see Note 5)	發票及收據 Invoice and Receipt
選舉代理人: Election Agent: HO BING KWAN	541,935.00	C1-6
選舉開支代理人: Election Expense Agent(s):		
·		
監察投票代理人: Polling Agent(s):		
監察點票代理人: Counting Agent(s):		,
選舉助理及拉票人: Election Assistant(s) and Canvasser(s):		
CHUNG SHUI CHUN	303,677.00	C7-13
ANGELINE WOO	126,452.00	C14-19
TAM TSUN HEI	112,500.00	C20-22
PR & ELECTION CONSULTANCY	1,050,000.00	C23-28
MPF Contributions for full time staff	34,678.20	C29-34
Consultancy Services – Oct 2016	15,000.00	117
總數 Total	2,184,242.20	

D部 : 選舉廣告之開支(見說明第9項)

Section D: Expenses for election advertisements (See Note 9)

應根據於中央平台或候選人平台或交給選舉主任之「選舉廣告資料摘要」(表格編號: REO/C/10 (2017CE-E) (SF))及「修正選舉廣告資料摘要通知書」(表格編號: REO/C/11 (2017CE-E) (SF))(如適用)所列的選舉廣告數量及種類,計算及填寫此部分之開支。不論項目招致的價值是否極少或甚至沒有招致開支,候選人均須申報每一項目的選舉廣告開支,以供選舉事務處查核。

The expenses entered in this section should be calculated based on the quantities and types of election advertisements stated on the Central Platform or Candidate's Platform or in the "Information Sheet in Relation to Election Advertisements" (Form no.: REO/C/10 (2017CE-E) (SF)) and "Notification of Corrected Information in Relation to Election Advertisements" (Form no.: REO/C/11 (2017CE-E) (SF)) (if applicable) submitted to the Returning Officer. The candidate should declare the expenses for each and every item of election advertisement, no matter how minimal the incurred cost is, or if no expense has been incurred, to facilitate checking by the Registration and Electoral Office.

# 1. 海報

**Posters** 

	印刷日期 Date of Printing	尺寸/面積 Size/Dimension	顏色 (單色/多色) Colour (Single/Multi)	印製的 文本數目 Number of Copies Printed	單價(港元) (見說明第 5項) Unit Price (HK \$) (see Note 5)	金額(港元) (見說明第 5項) Amount (HK \$) (see Note 5)	發票及收據 Invoice and Receipt
1.							
2.							
3.							
4.							
5.							
6.							
7.							
8.							
9.							
10.						•	
11.							
12.							
13.							
14.							
15.							
16.							
17.							
18.							
19.							
20.							
					第1項小計 Sub total of 1	0.00	

Sub-total of 1

0.00

2. 小冊子 Pamphlets

	印刷日期 Date of Printing	尺寸/面積 Size/Dimension	顏色 (單色/多色) Colour (Single/Multi)	印製的 文本數目 Number of Copies Printed	單價(港元) (見說明第 5項) Unit Price (HK \$) (see Note 5)	金額(港元) (見說明第 5項) Amount (HK \$) (see Note 5)	發票及收據 Invoice and Receipt
1.	13/12/16	148x210mm	MULTI	200	50.00	10,000.00	D1
2.	14/12/16	148x210mm	MULTI	<b>200</b>	50.00	10,000.00	D2
3.	9/2/17	148x210mm	MULTI	200	70.00	14,000.00	D3
4.	11/2/17	148x210mm	MULTI	200	70.00	14,000.00	D4
5.	13/2/17	148x210mm	MULTI	100	88.00	8,800.00	D5
6.	13/2/17	148x210mm	MULTI	1,200	30.00	36,000.00	D5
7.	23/2/17	148x210mm	MULTI	100	84.00	8,400.00	D6
8.							
9.							
10.							
11.				•			
12.							
13.							
14.							
15.							
16.							
17.							•
18.							
19.							
20.							
			1		第 2 項小計		

第 2 項小計 Sub-total of 2 101,200.00 3. 傳單 (A3 或 A4 或 A5 尺寸的紙張亦應視作傳單。)
Handbills (One-page paper with the size of A3, A4 or A5 should also be regarded as handbills.)

	Ċ⊓ 598 111 440		顏色	印製的	單價(港元)	金額(港元)	<b>然田口小</b>
	印刷日期 Date of Printing	尺寸/面積 Size/Dimension	(單色/多色)	文本數目 Number of Copies Printed	(見說明第 5項) Unit Price (HK \$) (see Note 5)	(見說明第 5 項 ) Amount (HK \$) (see Note 5)	發票及收據 Invoice and Receipt
1.	18/3/17	440x210mm	MULTI	2,000	2.40	4,800.00	D <b>7</b>
2.							-
3.							
4.							
5.							
6.					-		
7.							
8.							
9.							
10.							
11.							
12.							
13.							
14.			-				
15.							
16.							
17.							
18.	4,000						
19.							
20.							
				l	第3項小計		

第 3 項小計 Sub-total of 3 4,800.00

4. 其他印刷物品 (請註明有關選舉廣告的類別,例如:報紙廣告、圖文傳真、名片、信封或明信片等。)
Other Printing Items (Please specify the types of election advertisements concerned, e.g. newspaper advertisements, facsimile, name cards, envelopes or postcards, etc.)

	類別 Type	印刷日期 Date of Printing	尺寸/面積 Size/Dimension	顏色 (單色/多色) Colour (Single/Multi)	印製的 文本數目 Number of Copies Printed	單價(港元) (見說明第 5 項) Unit Price (HK \$) (see Note 5)	金額(港元) (見說明第 5 項) Amount (HK \$) (see Note 5)	發票及收據 Invoice and Receipt
1.	Envelopes	17/3/17	230x162mm	Multi	1,200	2.80	3,360.00	D7
2.	Cover Letter	13/2/17	210x297mm	Multi	1,300	2.00	2,600.00	D8
3.	Envelopes	13/2/17	230x162mm	Multi	1,300	2.80	3,640.00	D8
4.	Sticker	2/2/17	80x80mm	Multi	200	10.00	2,000.00	D9
5.	Sticker	7/3/17	80x80mm	Multi	200	2.50	500.00	D10
6.	Fai Chun	23/1/17	200x467mm	Multi	1,000	2.80	2,800.00	D11
7.	Name Cards	21/11/16	74x45mm	Single	500	2.00	1,000.00	D12
8.	Name Cards	26/11/16	74x45mm	Single	200	3.00	600.00	D13
9.	Name Cards	28/11/16	74x45mm	Single	300	3,00	900.00	D14
10.	Name Cards	14/12/16	74x45mm	Single	500	3.00	1,500.00	D15
11.	Name Cards	14/12/16	74x45mm	Single	500	2.00	1,000.00	D15
12.	Name Cards	30/12/16	74x45mm	Single	200	2.00	400.00	D16
13.	Name Cards	5/1/17	74x45mm	Single	200	2.00	400.00	D17
14.	Name Cards	16/1/17	74x45mm	Single	200	2.00	400.00	D18
15.	Name Cards	20/1/17	74x45mm	Single	500	2.00	1,000.00	D19
16.	Name Cards	3/2/17	74x45mm	Single	400	2.00	800.00	D20
17.	Name Cards	6/2/17	74x45mm	Single	200	2.00	400.00	D21
18.	Name Cards	16/2/17	74x45mm	Single	300	2.00	600.00	D22
19.	Name Cards	20/2/17	74x45mm	Single	200	2.00	400.00	D23
20.	Name Cards	21/2/17	74x45mm	Single	500	3.00	1,500.00	D24

第4項小計 Cont. P.7 (1) Sub-total of 4

(補充頁 Supplementary Sheet)

4. 其他印刷物品 (請註明有關選舉廣告的類別,例如:報紙廣告、圖文傳真、名片、信封或明信片等。)
Other Printing Items (Please specify the types of election advertisements concerned, e.g. newspaper advertisements, facsimile, name cards, envelopes or postcards, etc.)

	類別 Type	印刷日期 Date of Printing	尺寸/面積 Size/Dimension	顏色 (單色/多色) Colour (Single/Multi)	印製的 文本數目 Number of Copies Printed	單價(港元) (見說明第 5 項) Unit Price (HK \$) (see Note 5)	金額(港元) (見說明第 5 項) Amount (HK \$) (see Note 5)	發票及收據 Invoice and Receipt
21.	Name Cards	22/3/17	74x45mm	Single	100	2.00	200.00	D25
22.	Sticker	12/12/16	80x80mm	Multi	500	4.23	2,116.00	D33
	·		·					
	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,							
								W P
	-							
	-							
						第4項小計		

-7(1)-

Sub-total of 4

28,116.00

## 5. 横額 Banners

	製作日期 Date of Production	尺寸/面積 Size/Dimension	製作數量 Quantity Produced	單價(港元) (見說明第 5項) Unit Price (HK \$) (see Note 5)	金額 (港元) (見說明第 5項) Amount (HK \$) (see Note 5)	發票及收據 Invoice and Receipt
1.	9/3/17	243.84cm x 91.44cm	115	96	11,040.00	D26
2.	14/12/16	800cm x 230cm	1	2,042	2,042.00	D33
3.						
4.						
5.						
6.						
7.						
8.						
9.						
10.						
11.						
12.						
13.						
14.						
15.		·				
16.						
17.						
18.						
19.						
20.						
				第5項小計		

第 5 項小計 Sub-total of 5 13,082.00

6. 小旗 Pennants

	製作日期 Date of Production	尺寸/面積 Size/Dimension	顏色 (單色/多色) Colour (Single/Multi)	製作數量 Quantity Produced	單價(港元) (見說明第 5 項) Unit Price (HK \$) (see Note 5)	金額 (港元) (見說明第 5項) Amount (HK \$) (see Note 5)	發票及收據 Invoice and Receipt
1.							
2.							
3.							
4.							
5.							
6.							
7.							
8.							
9.							
10.							
11.							
12.				- address - stocked payors -			
13.			and the same of th				
14.							
15.							
16.							
17.							
18.							
19.							
20.							
		•			第6項小計	0.00	

第 6 項小計 Sub-total of 6 0.00

### 7. 標語牌

#### Placards

	製作日期 Date of Production	尺寸/面積 Size/Dimension	製作數量 Quantity Produced	單價(港元) (見說明第 5 項) Unit Price (HK \$) (see Note 5)	金額(港元) (見說明第 5項) Amount (HK \$) (see Note 5)	發票及收據 Invoice and Receipt
1.						
2.						
3.					·	
4.						
5.						,
6.						
7.				-		
8.						
9.			,			
10.						A CONTRACTOR OF THE CONTRACTOR
11.						
12.						
13.						
14.						
15.					- 1- 1- 1- 1- 1- 1- 1- 1- 1- 1- 1- 1- 1-	
16.						
17.		`			10 <sup>2-4</sup> 444	
18.						
19.						
20.						
				第7項小計		

第7項小計 Sub-total of 7 0.00

#### 8. 其他 (請註明類別)

Others (Please specify type(s))

未能分類為以上任何一項的選舉廣告應在此欄中填寫。例如:光碟、影片、視頻、電子訊息(包括電子郵件)、資訊系統網絡、電子展示板、電腦網頁、互聯網廣告等。

The election advertisements which cannot be classified into any one of the above items should be stated in this part. Examples are compact discs, films, videos, electronic messages (including electronic mail), information system network, electronic display boards, web page, Internet advertisements etc.

	類別 Type	製作日期 Date of Production	製作數量 Quantity Produced	單價 (港元 ) (見說明第 5 項 ) Unit Price (HK \$) (see Note 5)	金額(港元) (見說明第 5項) Amount (HK \$) (see Note 5)	發票及收據 Invoice and Receipt
1.	Enveloping	17/3/17	1,197	1.80	2,154.60	D7
2.	Address Label	17/3/17	1,197	0.50	598.50	D7
3.	Enveloping	13/2/17	1,179	1.80	2,122.20	D8
4.	Address Label	13/2/17	1,197	0.50	598.50	D8
5.	Photo Shoot	2/3/17	49 Digital Photos		2,000.00	D27
6.	Video Production	8/12/16	8 Videos		60,000.00	D28
7.	Cartoon Production	8/12/16	Cartoon Image		10,000.00	D29
8.	Fai Chun Design	11/1/17			2,000.00	D30
	Banner mantling and dismantling	13/3/2017 to 5/4/2017	102	60.00	6,120.00	D31
10.	Website/IT Design Consultancy	1/11/16 to 30/11/16			9,500.00	D32
11.	Website/IT Design Consultancy	1/12/16 to 31/12/16			5,288.00	D33
12.	Website/IT Design Consultancy	1/1/17 to 28/2/17			11,081.00	D34
13.	Website/IT Design Consultancy	1/3/17 to 26/3/17			4,230.00	D35
14.	Press Release	8/11/16	150	1.00	150.00	D36
15.	Badges	4/2/2107	200	4.00	800.00	I12
16.	Badges	9/3/2017	500	3.50	1,750.00	I12
	Outdoor	16/3/2017 26/3/2017	1	137,000.00	137,000.00	I11
	Photo Shoot Discount	2/3/2017			6,000.00	I13
	Video Production Discount	8/12/2016			20,000.00	I15
20.	Penalty for not dismantling banner	13/4/2017	2	第8項小計	896.70	D37-D38

第 8 項小計 Sub-total of 8 282,289.50 第 1 項至第 8 項小計總和

429,487.50

The Sum of Sub-totals 1 to 8

REO/C/1 (2017CE-E) (SF)

E 部

: 租金、辦公室及運輸之開支

Section E: Rental, office and transportation expenses

1. 租金及辦公室開支(開支計算至選舉日止)

	s (Expenses calculated up to tl 服務/貨品之性質及詳情 e and Particulars of Services/C		金額 (港元) (見說明第 5項) Amount (HK \$) (see Note 5)	發票及收據 Invoice and Receipt
租金:地址 Rental: Address	單位收費 *(港元) (見說明第5項) Unit Charge *(HK \$) (see Note 5)	租用日期及期間 (至選舉日止)* Rental Period & Duration (Up to the election day)*	(300 11310 3)	
Room 103 Lucky Building, 39 Wellington Street, Central		共 日 Total 177 days	232,200.00	E1a-5
WeWork Room 11015 535 Jaffe Road, Wanchai	•	共 日 Total 46 days	31,402.00	E6-8
文具: 種類 Stationery: Type	單價(港元) (見說明第 5 項) Unit Price (HK \$) (see Note 5)	數量 Quantity	8,534.50	E9-38
Stationary Please see Appendix A	<b>A</b>		-	
郵費: 性質 Postage: Nature Stamps - Please see Appendix I Posting of Election Advertisem Posting of Election Advertisem	ents 5.70 x 1,100	數量 Quantity	336.30 6,270.00 2,034.90	E39-53 E54 E55
其他 (請註明): Others (Please specify): Please Sec Appendix C for breakdo	單價(港元) (見說明第 5 項) Unit Price (HK \$) (see Note 5)	數目/數量/為期 Number/Quantity/Duration		
Computers Office Insurance Employees' Insurance Fuji Xerox Printer Rental Furniture Newspaper and Delivery Fee Office Miscellaneous Water and Delivery Fee Office Cleaning Fee			41,630.00 424.66 2,881.85° 10,782.50 23,565.50 5,048.00 1,193.80 6,720.00 3,900.00	E56 E57 E58-9a E60-4a E65-70 E71-5 E76-90 E91-101 E102-6
#單位收費應包括租金、電子 (計算至選舉日止)。 # Unit charge should include rental, charges and other related expense		第1項小計	376,924.01	

#### 2. 運輸開支 Transportation Expenses

	單位收費(港元) (見說明第 5項) Unit Charge (HK \$) (see Note 5)	數目/數量/期間 Number/Quantity/Duration	金額 (港元) (見說明第 5項) Amount (HK \$) (see Note 5)	發票及收據 Invoice and Receipt
租賃車輛	Car and Driver	\$200 x 15 hours	3,000.00	E107
Hiring of Vehicles	Tesla	\$600 x 15 days	9,600.00	E108
汽油				
Petrol (estimated at \$500/wee	ek x 10 weeks)		5,000.00	
司機				
Driver Please see Appendix	D		54,231.00	E109-113
 交通費(類別)				
Travelling Expense (Type)				
Taxi			546.20	E114-120
MTR by Octopus (Mr Woo F	Kwok Hing)	\$6 x 150 days	900.00	2117 120
 其他(請註明):				
Others (Please specify):				
Carpark			16,823.00	E121-126
Car Towing Fee			450.00	E127
J- 11 - 10 - 11 - 11 - 11 - 11 - 11 - 11		第 2 項小計		
		Sub-total of 2	90,550.20	
		第 1 項至第 2 項小計總和	- ).	
va ett		The Sum of Sub-totals of 1 to 2	467,474.21	

F部 : 雜項開支

Section F : Expenses for miscellaneous items

	詳情 Particulars 予選舉助理之飲品及食物			發票及收據 Invoice and Receipt
供應予選舉助理之 Beverages and food for				
日期 Date	人數 No. of Persons	場合 Occasion		
31/10/2016	to 21/3/2017	Before Polling Day	42,436.50	F1-55, F57-80
其他(請註明) Others (please specify)				
Kit Chee Championship	Game Tickets		1,552.00	F56
ł .		總數   Total	43,988.50	

- 13 -

G 部 : 未支付之索款 Section G : Outstanding claims

根據(選舉(舞弊及非法行為)條例》(第 554 章)第 37(2)(b)(i) 條的規定,候選人必須確保申報書附有 (就每項 100 元或以上的選舉開支而言)載有該項支出的詳情的發票及收據。我承諾將依據下表列出預定 支付索款的時間表,向有關供應者支付索款,並於付款日期後的 30 天內,向總選舉事務主任提交每項 100 元或以上的選舉開支的發票及付款收據,以證明下述索款已如期支付。如 我未能於限期內提交有關的發票及付款收據,總選舉事務主任可能會將個案轉交執法機構跟進。

According to section 37(2)(b)(i) of the Elections (Corrupt and Illegal Conduct) Ordinance (Cap 554), the candidate must ensure that the return is accompanied, in the case of each election expense of \$100 or more, by an invoice and a receipt giving particulars of the expenditure. I undertake to settle the following outstanding claim(s) with the supplier(s) according to the scheduled date(s) of payment of outstanding claim(s) as set out in the table below and submit to the Chief Electoral Officer within 30 days from the payment date the invoice and receipt for each item of election expense which is of \$100 or more in support of the settlement of the outstanding claim(s). If I do not submit the invoice and receipt concerned, the Chief Electoral Officer may refer the case to the law enforcement agency for follow-up action.

		蒙款的時間表 t of Outstanding Claim(s)	
貨品/服務之性質及詳情 Nature and particulars of Goods/Services	供應者 Supplier(s)	包括在我的選舉開支內的 索款的金額(港元) (見說明第 5項) Amount of Outstanding Claim(s) included in my Election Expenses (HK \$) (see Note 5)	擬定支付索款的日期 Scheduled Date(s) of Payment of Outstanding Claim(s)
	総数		
	Total	0.00	

## 各項選舉捐贈(見說明第 10至 14項) ELECTION DONATIONS (see Notes 10 to 14)

選舉捐贈一覽表 (詳情列於以下各有關部分) (見說明第5項)

Summary of election donations (with details set out under each of the relevant sections below) (see Note 5)

1,000元或以下之選舉捐贈(H部)	нк \$	35,390.30	港元
Election donations of \$1,000 or less (Section H)			
1,000 元以上之選舉捐贈(I 部)	HK \$	1,289,956.73	港元
Election donations of more than \$1,000 (Section I)	e ure	1,325,347.03	进元
#E 安 Tot		1,525,5 + 7.05	, resp
	.41		
減除:已處置之選舉捐贈(如有此情況)(J部)(見說明第14項)			
LESS: Election donations disposed of (if any) (Section J) (see Note 14)	HK \$	0.00	_港元
men ha hors stee . F h. hom stee 100 state wh	~		<b>44</b>
用於選舉中之選舉捐贈總		1,325,347.03	_港兀
Total of election donations used for the	e election		

H部

: 1,000 元或以下之選舉捐贈

Section H : Election donations of \$1,000 or less

日期/期間 Date/Period	選舉捐贈說明 Description of Election Donation	選舉捐贈金額或價值(港元) (見說明第 5項) Amount or Value of Election Donation (HK \$) (see Note 5)
November 2016 – March 2017	Meal Donation (each not exceeding \$1,000)	15,358.00
November 2016 – March 2017	Cash donation (each not exceeding \$1,000)	19,100.00
17/3/2017	Stationary	30.00
24/1/2017	Event cost	681.00
16/2/2017	Higher Education Event	21.30
November 2016 – March 2017	FB Support not exceeding 100 estimated @ HK\$2 each	200.00
	總數 Total	35,390.30

I部

: 1,000 元以上之選舉捐贈

Section I : Election donations of more than \$1,000

請在下表填報每名(在一次或多次之選舉捐贈中)選舉捐贈總額在 1,000 元以上之捐贈者的姓名或名稱及 地址,並附上就有關選舉捐贈發給捐贈者之「劃一格式選舉捐贈收據」(表格編號:REO/C/2 (2017CE-E) (SDF)) 副本。所有收據副本上應 順序註明編號,而編配予每一收據副本的編號應填寫在"收據副本"一欄 内的相應位置,以資對照。

Please enter the name and address of each donor who has donated more than \$1,000 in total (in one or more election donations). Each entry must be accompanied with a copy of the "Standard Receipt for Election Donations" (Form no.: REO/C/2 (2017CE-E) (SDF)) issued to the donor. All copies of receipt should be marked in numerical sequence and, for cross-reference purpose, the number assigned to each copy of receipt should be correspondingly entered in the "Copy of Receipt" column.

	捐贈者 Donar	選舉捐贈說明	選舉捐贈金額或價值 (港元) (見說明第5項)	收據副本	
姓名或名稱 Name	地址 Address	選舉捐贈說明 Description of Election Donation  Cash  Cash  Cash  Cash  Ruse, Cash  Re, ay, Cash  HK  Cash  Cash	Amount or Value of Election Donation (HK \$) (see Note 5)	Copy of Receipt	
Chim Pui Chung	1705 Admiralty Centre, Tower II, HK	Cash	500,000.00	I1	
Chan Kwong Yiu Jacky	21 Cooper Road, Jardine's Lookout, HK	Cash	10,000.00	<b>I</b> 2	
Global Enterprise Ltd.	c T.M. Wong Rm 802, 8/F Tak Shing House,		I3		
Eric T.M. Wong	Rm 802, 8/F Tak Shing House, 20 Des Voeux Road, HK	Cash	200,000.00	I4	
Zastron Precision -Tech Limited	Unit 1201, 12/F, Tower One, Lippo Centre, 89 Queensway, Admiralty, HK	Cash	200,000.00	15	
Cheng Huan	1505 Dina House, 11 Duddell Street, Central, HK	Cash	100,000.00	16	
Tam Wai Cheung Roger	PO Box 90243, TST Post Office, Kowloon	Cash	10,000.00	17	
Henry	15/F, AXA Tower, Landmark East, 100 How Ming Street, Kwun Tong, Kowloon	Cash	20,000.00	18	
	灣仔軒尼詩道 288 號英皇集團 中心 28 樓	Cash	30,000.00	19	
Lau Thomas Lee Hok	4 Magnolia Road, Yau Yat Chuen, Kowloon	Cash	10,000.00	I10	
	Flat B&D, 15/F, E Wah Factory Building, 56-60 Wong Chuk Hang Road, Aberdeen, HK	Outdoor Advertising billboard at Cross Harbour Tunnel – Hung Hum Side	137,000.00	I11	
	Hse G, The Overthorpe, 28 Mount Austin Road, The Peak, HK	Badges	2,550.00	I12	
		T-T			

總數 Total

Cont. P.16 (1)

I部 : 1,000 元以上之選舉捐贈

Section I : Election donations of more than \$1,000

請在下表填報每名(在一次或多次之選舉捐贈中)選舉捐贈總額在 1,000 元以上之捐贈者的姓名或名稱及地址,並附上就有關選舉捐贈發給捐贈者之「劃一格式選舉捐贈收據」(表格編號: REO/C/2 (2017CB-E) (SDF)) 副本。所有收據副本上應 順序註明編號,而編配予每一收據副本的編號應填寫在"收據副本"一欄內的相應位置,以資對照。

Please enter the name and address of each donor who has donated more than \$1,000 in total (in one or more election donations). Each entry must be accompanied with a copy of the "Standard Receipt for Election Donations" (Form no.: REO/C/2 (2017CE-E) (SDF)) issued to the donor. All copies of receipt should be marked in <u>numerical sequence</u> and, for cross-reference purpose, the number assigned to each copy of receipt should be correspondingly entered in the "Copy of Receipt" column.

	捐贈者 Donor	onor選舉捐贈說明		收據副本	
姓名或名稱 Name	地址 Address	Description of Election Donation  E  Discount for Photoshoot  Te, Election Event  Discount for Video Shoot  Media Dinner  Procurement of Consultancy Service	Amount or Value of Election Donation (HK \$) (see Note 5)	Copy of Receipt	
Cheuk Hau Nam	Room G, 13/F, Block 3, Saddle Ridge Garden, Ma On Shan, NT	Discount for Photoshoot	6,000.00	I13	
Louis Lo	Rm 801, Decca Industrial Centre, 12 Kut Shing St, Chaiwan, HK		11,225.33	I14	
Ng Wan Lung Ben	97 Mongkok Road, 20/C, Kowloon, HK	Discount for Video Shoot	20,000.00	115	
Kwok Yat Ming	Rm B, 15/F, Kuo Wah Building, 342 Hennessy Road, Wanchai, HK	Media Dinner	1,100	116	
Yu Man Ying	Flat C-7, 113 Repulse Bay Road, HK	Venue Rental 27/10/2016	15,000 1,500 6,400	117	
Liberal Party Youth Committee	2/F, New Hennessy Tower, 263 Hennessy Road, Wanchai, HK	Election Event	7,681.40	I18	
		1994			

總數 Total

1,289,956.73

J部 :已處置之選舉捐贈(如有此情況)(見說明第14項)

Section J: Election donations disposed of (if any) (see Note 14)

每項填報資料均須附上收款人所發之收據副本,所有收據副本上須 <u>順序註明編號</u>,而編配予每一收據 副本的編號應填寫在"收據副本"一欄內的相應位置,以資對照。

Each entry must be accompanied with a copy of the receipt issued by the recipient. All copies of receipt should be marked in <u>numerical sequence</u> and, for cross-reference purpose, the number assigned to each receipt should be correspondingly entered in the "Copy of Receipt" column.

屬公共性質的慈善機構或慈善信託的名稱 Name of Charitable Institution or Trust of a Public Character	金額或價值(港元) (見說明第 5 項) Amount or Value (HK \$) (see Note 5)	收據副本 Copy of Receipt
總數 Total	0.00	****

## 聲明書

#### FORM OF DECLARATION

<i>h</i> =	æe	•	444	Æ
11天	選	Л	姓	7

Name of Candidate WOO KWOK HING

#### 我謹以至誠鄭重聲明如下

I hereby solemnly and sincerely declare as follows

1. 我是參與是次選舉之上述候撰人。

I am the above-mentioned candidate at the above election.

- 上述提交總選舉事務主任之選舉開支及接受選舉捐贈之申報書及附件,經由我審閱。據我所知及 所信,申報書已按法例之規定,準確詳列關於進行及管理上述選舉之
  - (甲) 所有由我招致及我的選舉開支代理人代我招致之選舉開支;以及
  - (乙) 所有由我、我的選舉代理人以及任何其他人代表或為我所接受之選舉捐贈。

I have examined the above return of election expenses and election donations and the attachments to be submitted to the Chief Electoral Officer, and to the best of my knowledge and belief, it is an accurate account of

- (a) all election expenses incurred by me and by my election expense agent(s) on my behalf; and
- (b) all election donations received by me, my election agent and by any other persons on my behalf or on my account, in respect of the conduct and management of the above election as required by law.
- 3. 據我所知及所信一
  - (甲)除本申報書所列出的選舉開支外,我並無招致其他選舉開支,而我的選舉開支代理人並無代我招致其他選舉開支;以及
  - (乙) 除本申報書所列出的選舉捐贈外,我並無接受其他選舉捐贈,而我的選舉代理人及任何其 他人並無代表或為我接受其他選舉捐贈;以及
  - (丙) 所有已處置之選舉捐贈亦已按本申報書內所列出的方式處置。

To the best of my knowledge and belief-

- (a) no election expenses other than those set out in this return were incurred by me and my election expense agent(s) on my behalf; and
- (b) no election donations other than those set out in this return were received by me, by my election agent and any other persons on my behalf or on my account; and
- (c) all election donations disposed of have been disposed of in the manner set out in this return.

我謹憑藉《宣誓及聲明條例》(第 11 章) 衷誠提出此項鄭重聲明,並確信其為真確無訛。

And I make this solemn declaration conscientiously believing the same to be true and by virtue of the Oaths and Declarations Ordinance (Cap 11).

聲明人簽署

Signature of Declarant..

\* 監督員/太平紳士/持有執業證書的律師簽署 Signature of \* Commissioner for Oaths/Justice of the Peace/ Solicitor with a practising certificate

\* 監誓員/太平紳士/持有執業證書的律師姓名 Name of \* Commissioner for Oaths/Justice of the Peace/ Solicitor with a practising certificate WOO KWOK YIN SOLICITOR, HONG KONG SAR. (K. Y. WOO & CO.)

......

\* 請刪去不適用者。

\* Please delete whichever is inapplicable.

Section E Ap	pendix A				Including			
Date	Туре	Amount	Section	Number	Туре	Rate	Qty	Total
24/10/2016	Stationary	1,882.00	E	9				
					A4 3" files	21.00	20 2 4 4 4 4 5 1 3 1 1 1 1 1 1 1 1 2 1 4 4 4 1 2 1 1 2 1 1 2 1	420.00
					Pencil	18.00	2	36.00
					Sharpener	12.00	4	48.00
					Eraser	11.00	4	44.00
					6" Extension Cord	170.00	4	680.00
					Ball Pen	36.00	3	108.00
					Hole Punch	35.00	4	140.00
					Waste Bin	35.00	4	140.00
					Notebook	21.00	5	105.00
					Parker Ink	45.00	1	45.00
					Clear Folder	20.00	3	60.00
					Envelopes	9.00	1	9.00
					#108 Clip	23.00	1	23.00
					#110 Clip	13.00	1	13.00
					#113 Clip	11.00	1	11.00
24/10/2016	Stationary	803.00	Е	10				
					88R Stapler	66.00	4	264.00
					#2115 Staples	20.00	20 2 4 4 4 3 4 5 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 4 4 1 1 4 1	40.0
					A4 Paper	40.00		40.00
					10 x 14 Envelope	2.00	10	20.0
					3/4" Tape	69.00	1	69.0
					Ruler	6.00	4	24.0
					Scissors	16.50	4	66.0
·-					Cutter	16.00	1	16.0
					Correction Pen	23.00	4	92.0
					Glue Stick	23.00	1	23.0
					Pen Stand	15.00	2	30.0
					Marker	11.00	1	11.0
					Paper Clip	4.00	2	8.0
					Highlighter	100.00	1	100.0

27/10/2016	Stationary	2,120.00	E	11				
					3 x 4 Whiteboard	540.00	1	540.00
					Paper Shredder	1,280.00	1	1,280.00
					Name Card holders	178.00	1	178.00
					Eraser	44.00	1	44.00
***************************************					Marker	13.00	6	78.00
27/10/2016	Stationary	78.00	Ε	12				
28/10/2016	Stationary	150.00	E	13	Diary			
1/11/2016	Stationary	237.50	E	14				
					Copysafe	29.00	2	58.00
					Index	45.00	3	135.00
					Batteries	44.00	1	44.00
					Bag	0.50	1	0.50
2/11/2016	Stationary	267.00	E	15				
3/11/2016	Stationary	102.00	E	16	Diary			
7/11/2016	Stationary	50.00	E	17	USB 8mb			
7/11/2016	Stationary	40.00	Е	18	USB 8mb			
8/11/2016	Stationary	178.00	E	19	A4 Paper			
18/11/2016	Stationary	86.00	Ε	20				
					File	66.00	1	66.00
					Label	20.00	1	20.00
24/11/2016	Stationary	165.00	E	21				
2/12/2016	Stationary	83.00	E	22				
8/12/2016	Stationary	320.00	E	23	Pen Power EzGo			
14/12/2016	Stationary	117.00	E	24				
15/12/2016	Stationary	176.00	E	25				
20/12/2016	Stationary	695.00	E	26				
21/12/2016	Stationary	210.00	E	27	A4 3"Box File	21.00	10	210.00
3/1/2017	Stationary	39.00	E	28				
11/1/2017	Stationary	31.00	E	29				
24/1/2017	Stationary	107.00	E	30				
26/1/2017	Stationary	28.00	E	31	Rubber Band			
1	7 Stationary	28.00	E ·	32				

č

7/2/2017	Stationary	128.00	E	33				
21/2/2017	Stationary	230.00	E	34				
28/2/2017	Stationary	13.00	E	35			Afficiation to a secretary with	
3/3/2017	Stationary	115.00	E	36				
					A4 File	28.00	2	56.00
					E310 Holder	22.00	1	22.00
,					Double Clip	18.50	2	37.00
9/3/2017	Stationary	49.00	E	37	Conqueror Paper			
27/3/2017	Stationary	7.00	E	38				
	Total	8,534.50						

Section E A	ppendix B				
				<del> </del>	
Date	Туре			<u> </u>	15.00
	Postage Stamps	E	39		17.00
1/12/2016	Postage Stamps	E	40		34.00
19/12/2016	Mail collection	E	41		4.40
10/1/2017	Postage Stamps	Е	42		6.20
12/1/2017	Postage Stamps	Е	43		37.70
24/1/2017	Postage Stamps	Е	44		34.00
	Postage Stamps	Е	45		79.80
	Mail collection	Е	46		14.80
	Postage Stamps	Е	47		17.00
	Postage Stamps	Е	48		41.40
	Postage Stamps	Е	49		3.40
	Postage Stamps	Е	50		10.80
	Postage Stamps	E	51		11.40
	Postage Stamps	Е	52		7.40
	Postage Stamps	Е	53		17.00
				Total	336.30
20/2/2017	Posting of election advertisements	Е	54		6,270.00
	Posting of election advertisements	Е	55		2,034.90
				Total	8,304.90

į

Section E A	ppendix C			
<u>Date</u>	Type			14 400 00
15/11/2016	Computers	E	56	41,630.00
24/11/2016	Office Insurance	E	57	424,66
24/11/2016	Employee Insurance	Е	58	846.94
	Employee Insurance	E	59	1773.03
······	Employee Insurance	E	59a	261.88
	Printer Rental & Meter Charge	Е	60	1,450.00
	Printer Rental & Meter Charge	Е	61	2,020.82
	Printer Rental & Meter Charge	E	62	3,340.83
	Printer Rental & Meter Charge	E	63	1,813.04
	Printer Rental & Meter Charge	E	64	1,906.59
	Printer Meter Charge	E	64a	251.22
13/10/2016		E	65	9,999.00
		E	66	844.10
13/10/2016			67	10,134.60
13/10/2016	<del> </del>	E	· · · · · · · · · · · · · · · · · · ·	396.00
13/10/2016		E	68	674.00
18/10/2016		E	69	
	Furniture	E	70	1,517.80
	Newspaper	<u>E</u>	71	1,172.00
	Newspaper	E	72	985.00
	Newspaper	E	73	912.00
28/2/2017	Newspaper	E	74	1,026.00
	Newspaper	E	75	953.00
29/10/2016	Office Miscellaneous	E	76	175,00
1/11/2016	Office Miscellaneous	E	77	137.30
1/11/2016	Office Miscellaneous	Е	78	48.50
3/11/2016	Office Miscellaneous	<u>E</u>	79	18.90
8/11/2016	Office Miscellaneous	Е	80	351.00
	Office Miscellaneous	Е	81	25.00
	Office Miscellaneous	Е	82	57.80
	Office Miscellaneous	Е	83	39.10
	Office Miscellaneous	E	84	30.00
	Office Miscellaneous	Е	85	100.00
	Office Miscellaneous	Е	86	22.90
	Office Miscellaneous	E	87	60.00
	Office Miscellaneous	E	88	69.00
	Office Miscellaneous	E	89	39.40
	Office Miscellaneous	E	90	19.90
		E	91	504.00
2/11/2016		E	92	504.00
4/11/2016		E 	92	504.00
16/11/2016			<del></del>	504.00
18/11/2016		E	94	
7/12/2016	-	E	95	504.00
23/12/2016		<u>E</u>	96	672.00
13/1/2017		<u>E</u>	97	504.00
18/1/2017		E	98	672.00
10/2/2017		E	99	672.00
3/3/2017		E	100	1,008.00
17/3/2017		E	101	672.00
	Office Cleaning	E	102	300.00
23/12/2016	Office Cleaning	E	103	900.00
	Office Cleaning	Е	104	900.00
	Office Cleaning	E	105	900.00
	Office Cleaning	Е	106	900.00
-2//3/ZU17	Office Clouding			

Section E A	ppendix D			
Date	Type			
	Hiring of Vehicle	E	107	3,000.00
15/3/2017	Hiring of Vehicle	E	108	9,600.00
10 weeks	Petrol			5,000.00
2/12/2016	Driver	E	109	18,700.00
22/12/2016	Driver	Е	110	17,000.00
3/1/2017	Driver .	E	111	2,400.00
9/1/2017	Driver	E	112	3,965.00
24/1/2017	Driver	E	113	12,166.00
15/3/2017	Traveling expense	E	114	49.20
8/2/2017	Traveling expense	E	115	30.00
6/2/2017	Traveling expense	E	- 116	147.00
1/2/2017	Traveling expense	E	117	56.00
1/2/2017	Traveling expense	E	118	204.00
3/3/2017	Traveling expense	Е	119	31.60
14/2/2017	Traveling expense	E	120	28.40
	Car park	Е	121	723.00
Nov-16	Car park	E	122	3,200.00
Dec-16	Car park	Е	123	3,200.00
Jan-17	Car park	Е	124	3,200.00
	Car park	Е	125	3,200.00
	Car park	Е	126	3,300.00
150 days	MTR Charges on octopus	no receipt		900.00
	Car towing Fee			450.00
				90,550.20

.